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Question Number : 1 Question Id : 7935231101 Display Question Number : Yes Is Question
Mandatory : No

Drawings account 1s related to

Drawings 20°¢° 8 D0220HO0DIE

Options :
1. Nomunal account

Do) 0T €50) YT

1.%
2. Personal account
- D5SKeS gres
3. Real account
- V23D P°E°
4. Company drawings account
) 0D (E@ONONS gres
4, -

Question Number : 2 Question Id : 7935231102 Display Question Number : Yes Is Question



Mandatory : No

A bank reconciliation statement 1s prepared by ...........
23°505 DTS (8IS ST WOV ......... ..
Options :

1. Customer of the bank

., eSO Ao

2. Bank
- 27508

3. Reserve bank of India
H235 5 23°505 e85 QOCGA®

3. %

4. Either 2 or 3
Lx 2803

Question Number : 3 Question Id : 7935231103 Display Question Number : Yes Is Question
Mandatory : No

3. Unearned mcome account i1s............
QOTEOI) BTON W& ............

Options :

1. Asset

es)



2. Liability

L v 25 eb
3. Expense
3 D)

4. Income recerved i advance

SO PO BT ANO

Question Number : 4 Question Id : 7935231104 Display Question Number : Yes Is Question
Mandatory : No

Depreciation is provided on

SN @OEO0VDROE
Options :
1. Fixed assets

NG YTV

1.4
2. Current assets
VL W
- (oo € @3N
3. Intangible assets
i €900 esc)ew
3.

4, %



4. None of the above

DD B

Question Number : 5 Question Id : 7935231105 Display Question Number : Yes Is Question
Mandatory : No

Provision for bad debts 1s calculated on

SN0G 20N TEFON0D) S8 0522000
Options :

1. Creditors

Lk QR e
2. Sales
- INVPESEDY
3. Purchase
3 % SNV LY
4. Debtors
S0 (e e
4,

Question Number : 6 Question Id : 7935231106 Display Question Number : Yes Is Question
Mandatory : No



Wages 1s an example of:

SSSTeN A8 G Bea:
Options :

1. Capital expenses

S0 e

2. Indirect expenses

DFE e

2. %
3. Direct expenses
Lo 0558 B ew
4. Revenue expenses
\ DS DA

Question Number : 7 Question Id : 7935231107 Display Question Number : Yes Is Question
Mandatory : No

Rights shares are those shares which are 1ssued to
8020 e 2378 TODDER °ereN
Options :

1. Directors

BOED



2. Promoters

1357

3. Exusting shareholders
(WSO €5d) RN
3.¢
4. None of the above

D D B

Question Number : 8 Question Id : 7935231108 Display Question Number : Yes Is Question
Mandatory : No

Financial statement in relation to a company mcludes:

E0D08 HD0D0E0R B0E HEIS A &) ow:

Options :
1. Balance sheet

- 2SS A

2. Statement of P & L
P & L A308) (2086

2. %

3. Cash flow statement

3 % AHEN |DT°T°0 [8EIS

4.+



4. All of these
2302

Question Number : 9 Question Id : 7935231109 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s not a case of combination?

80 36 DA FONTAS Tl 5°¢50?

Options :

1. External reconstruction

23%60°8 o)D) T°2€90

1. %
2. Internal reconstruction
€905 ed D) U220
2. ¢
3. Amalgamation
Lx 0e02F00
4. Absorption
o6
4 % 3 A€

Question Number : 10 Question Id : 7935231110 Display Question Number : Yes Is Question
Mandatory : No



The profit on re-1ssue of shares 1s transferred to

2218 B-2375D) 037250 2O TONHIOD

Options :

1. Capital reserve

S5O 0235 §

1.¢
2. General reserve
e 6230 §
2. %
3. P/L account
; DO e
4. None of the above
e oo Bed
4, %

Question Number : 11 Question Id : 7935231111 Display Question Number : Yes Is Question
Mandatory : No

.............. aids 1n price fixation

.............. 530> DBEES HIFAHO

Options :

1. %



1. Financial accounting

30 e9F0e30h

2. Cost accounting

X)) @5 oe3oh

2.¥
3. Management accounting
D 5570 9T 0e30h
3. %
4. None of these
) IO RN IARSIAN
4.

Question Number : 12 Question Id : 7935231112 Display Question Number : Yes Is Question
Mandatory : No

Cost accounting provides data for managerial
570 @5 0300 D230 D0 TEFD 9OANOA
Options :

1. Decision making

DEAHO 3EHHO

1.4



2. Recruitment

VOS8O

3. Retrenchment

G0 O
3, %
4. None of these
DEIS’ DA B
4, %

Question Number : 13 Question Id : 7935231113 Display Question Number : Yes Is Question
Mandatory : No

.................. cost 1s urecoverable cost.
ceerresrenerennee. DAY FeNES dA).

Options :

1. Marginal

L x  C5rOed
2. Product
2. @ég@
3. Sunk
DN AEODOH

3.v¥



4. None of these

eI DA T

Question Number : 14 Question Id : 7935231114 Display Question Number : Yes Is Question
Mandatory : No

Which one out of the following is not an inventory valuation method?

806 73S DB BTF0 FENITDAS W 5¢3?

Options :

.« 1. FIFO
2. T3FO

2. %

3. Weighted average

DD 220

Y 4. EOQ

Question Number : 15 Question Id : 7935231115 Display Question Number : Yes Is Question
Mandatory : No

Opening stock Rs. 80,000; Closmg Stock Rs. 60.000; Material Purchased Rs. 2,60.000. Find
out Inventory Turnover Ratio?

Opening &S . 80,000; sA0K) 'S &, 60,000; S0ffen B HEBAHE &,
2,60,000. 20 )0 A1) SdF0a?



Options :

1. 5 tumes

57

2. 4 times

4 *

2. ¢

4. 2 times

2 D

Question Number : 16 Question Id : 7935231116 Display Question Number : Yes Is Question
Mandatory : No

- Job costing 1s the most suitable method for

&S5 H50N0 955065 NETOS HEe3

Options:

1. O1l processing units

80N® processing O Y



-2

Transport companies

BT DOV

3. Sugar industry

. 29828 DO|FD
3.
4. Repair shops
COTET D 257D DA
4.+

Question Number : 17 Question Id : 7935231117 Display Question Number : Yes Is Question

Mandatory : No
Sales Rs. 4.00.000 and P/V Ratio 1s 25%. Find out Variable cost.
9057 . 4,00,000 DO PV 501 25%. 300000 e Edffedods.

Options:

1. Rs.2.00.000

2. Rs.2.50,000

3. Rs.3,00,000
3.¢

4. Rs.3.50,000
4. %



Question Number : 18 Question Id : 7935231118 Display Question Number : Yes Is Question
Mandatory : No

Factory overhead 1s also termed as
o586 8,558 26 @) St @0erd
Options :

1. Sundry overhead

. OIS 8,050 6
2. Extra overhead
- N8 2o &
3. Works overhead
- 0. o005
4. None of these
) D3’ NE T
4,

Question Number : 19 Question Id : 7935231119 Display Question Number : Yes Is Question
Mandatory : No

Bonus under Halsey plan 1s paid
I3 ) TS 80 SRR T 0TS0

Options :



1. At 100% of Time saved

100% SD0NO e8° DOVDBOE

1. %
2. At 75% of Time saved
. 75% SaNONO 8 BONDBOH
2.
3. At 80% of Time saved
80% JNANO EITI° DOVDHOE
3. %
4. At 50% of Tiume saved
50% JNONO E° TONDHOE
4. &

Question Number : 20 Question Id : 7935231120 Display Question Number : Yes Is Question
Mandatory : No

Standard costisa............ cost
Standard G 2.8 ... o)
Options :

1. Predetermuined

SO APONONS

1.4



2. Historical

20|58

3. Actual

SR E

4. Final

Question Number : 21 Question Id : 7935231121 Display Question Number : Yes Is Question
Mandatory : No

The purpose of management accounting is to
Q& £57en @957 0t300 WNE), &R0
Options :

1. Help banks make decisions

DGairen SEIER 2rs0Sed) oo TAHod

-2

Past orientation

) % Ked ESed

3. Help investors make decision

2ENDATEEN AGAN0 BDEITAE DFOHIG0



4. Help managers make decisions

Qe srEen AGATeD BE NGB0 HIFANDG05

4.¢

Question Number : 22 Question Id : 7935231122 Display Question Number : Yes Is Question
Mandatory : No

The concept of management accounting was comed by?

DS D0 OTOL0N BT 270 0B EFFOBOTTE?
Options :

1. R.N Anthony
- RN €805

2. ] Batty
3. James H. Bliss
2o D, D
3. ¢ o

4. American Accounting Association

4% 908N 9T°0¢300 ONFTDAD

Question Number : 23 Question Id : 7935231123 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following i1s a non-current item —

20 57¢3S° DA B0 55 @0%0



Options :
1. Securities premium

8575839 (DAH0

1.4
2. Outstanding wages
. €9€8) §€953) B3eHeN
3. Trade payables
. Jredes s TDOHEN
4. Bank balance
2°505 25 SR
4, %

Question Number : 24 Question Id : 7935231124 Display Question Number : Yes Is Question
Mandatory : No

Which of the followmg financtal statement shows a firm'’s financtal position on a particular
date?

300 S o) JTVANO Y0 28 A SOS 2.8 o) T, @08
AR ENATENOlA)

Options :
1. Cash flow statement

SHED (DTT0 RE 0

I~

Fund flow statement

H0& FF VEDoS



3. Balance sheet

2B A
3. ¢

4. Comparative statement

HOT¢528 VOO

Question Number : 25 Question Id : 7935231125 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s an internal user of financial statement?

806 3¢S’ es0% DO T, @0 DATIHTE) DeiS?

Options :

1. Owners

C ko O0230070ew

2. Employees

&ESsHen
2. % :
3. Managers
i QT £ S0EN
3.

4. All of the above
DY

4.v



Question Number : 26 Question Id : 7935231126 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following statement is not a tool in financial statement analysis?

TANS V0L N3N 806 S DO 2.8 RS0 T

1. Ratio analysis

. QA DBNES
2. Common size statement
= =
PO 03D REINOE
2. %

3. Comparative statement

. BT8O

4. Marginal costing

PN OLL PN (OIS
4.

Question Number : 27 Question Id : 7935231127 Display Question Number : Yes Is Question
Mandatory : No



A company’s net sales are Rs.15,00,000; cost of sales 1s Rs.10,00,000 and indurect expenses

are Rs.3,00,000, the amount gross profit will be:

8020 88 @ayzen A .15,00,000; @35 i) 6P .10,00,000 O F
D800 EF 300,000, NSO (Pe £7250:

Options :

1. Rs. 13.00,000

1. %

2. Rs. 5.,00.000
2. %

.~ 3. Rs. 2,00,000

4. Rs. 12,00,000
4, %

Question Number : 28 Question Id : 7935231128 Display Question Number : Yes Is Question
Mandatory : No

The term ‘fund’ refers to
DOE' @ D0 QTN
Options :

1. Reserves

O £

2. Working capital
N6 0N LN

2.



3. Profit

ey2d0

4. None of these

D3 DA T

Question Number : 29 Question Id : 7935231129 Display Question Number : Yes Is Question
Mandatory : No

- When the sales increase from Rs. 40,000 to Rs. 60,000 and profit mcreases by Rs. 5.000.the
P/V ratio 15—
@050 . NOG O, 40,000 DO GF. 60,000 DO €320 G,

5000, PV Qa) )8 -

Options :

1. 20%

-2

30%

3. ¢

Question Number : 30 Question Id : 7935231130 Display Question Number : Yes Is Question
Mandatory : No



Absorption costing 1s also known as

T AED HFONO) ... @Q E5°CF° ©0EFED

Options :

1. Historical costing

23°0(¢48 5O
2. Total costing
L« SNLO0 HIOHO
3. Both1and?2
1 0O 2 BOC®
3.¢¥

4. None of the above

DD D B

Question Number : 31 Question Id : 7935231131 Display Question Number : Yes Is Question
Mandatory : No

Who 1s the father of economics?
€308 B Q DT NITVED 2)oI?

Options :



1. Adam smith

L e @0 NS

-2

Robmson

- 0°2) )

3. Alfred Marshall

N GNEReN
4. None of these
eI’ A S
4. %

Question Number : 32 Question Id : 7935231132 Display Question Number : Yes Is Question
Mandatory : No

Utility 1s measured by

AS0e3OeS . o 50° e

Options :

1. Wealth

“, s,
- Q0N



2. Price

nle

3. Value or Worth

DC)
3.¢
4. Income
e300
4, %

Question Number : 33 Question Id : 7935231133 Display Question Number : Yes Is Question

Mandatory : No

The relationship between price and demand is

DS NOA BT RS D0DOPO

Options:
1. Direct

alels

2. Positive

PO ALS

3.¥



4. None of these

De3S” DA T

Question Number : 34 Question Id : 7935231134 Display Question Number : Yes Is Question
Mandatory : No

Law of demand shows relationship between price and quantity demanded.
Gor08 940, (O DO BaT0R NG 00T, Wr)e0b.
Options :
1. Positive
J22e3D
1. %

2. Negative

De3gored
2. -
3. Direct
. 30§

4. %



4. None of the above
D Do) By

Question Number : 35 Question Id : 7935231135 Display Question Number : Yes Is Question
Mandatory : No

Indifference curve approach was given by

&N |Eeh TV0 WO INICNEOIA

Options:
1. Alfred Marshall

3| B)& 0O

2. Adam Smuth

@3CHa0) 26D

2. %
3. Hicks and R.G.D. Allen

- 2°5) cDOO R.G.D. &S
4. .M. Kevynes

L IM. 8§3)

Question Number : 36 Question Id : 7935231136 Display Question Number : Yes Is Question
Mandatory : No



Relatively elastic demand 1s

P30 N B0
Options :
- 1. ep=—0
2. ep>1
2. %
3 ¢ 3. ep<l
4. &p=1
4, %

Question Number : 37 Question Id : 7935231137 Display Question Number : Yes Is Question
Mandatory : No

Perfectly elastic demand curve 1s a curve
0SS 1 B30 S &b
Options :

1. U shaped

- U &350
2. L shaped
- L es5°506y

3. Horizontal

3 v 8 03230570658



4. Vertical

Q)

Question Number : 38 Question Id : 7935231138 Display Question Number : Yes Is Question
Mandatory : No

Indifference curve slopes,
SN JE orew,
Options :

1. Downward to the right.

AIVSISVESV TR

1.9

2. Upward to the right.
,x 5B

(8]

Downward to the left.

Lw OO0 DCeaNI).
4. Upward to the left.
4,

Question Number : 39 Question Id : 7935231139 Display Question Number : Yes Is Question
Mandatory : No



In perfect competition a firm mcreases profit when exceeds

NSRS S 2.8 09 $0%) 80P &:0259)¢h eerR)
200000,

Options :

. L TC.TR

L« 2. MC,MR
L v 3. AR AC

4. TR, TFC
4. %

Question Number : 40 Question Id : 7935231140 Display Question Number : Yes Is Question
Mandatory : No

Market ---------- occurs where demand and supply are equal.

ki) A BT08 sB0D) BT TR0 &) & BEHR0E.

Options :

1. Equlibrrum

QoS SO

1.4

2. Utility

OV NALDIN



3. Elastic

- o°0
4. None of these.
L DE3S DA B,

Question Number : 41 Question Id : 7935231141 Display Question Number : Yes Is Question
Mandatory : No

The head of the jomt Hindu family busimess 1s called
o8 a0 S0E002) 4TS 93 0%
Options :

1. Proprietor

. ON2307°)
2. Director

, »  BOE0
3. Karta

. &0

4. Manager

DO



Question Number : 42 Question Id : 7935231142 Display Question Number : Yes Is Question
Mandatory : No

The board of directors of a joint stock company is elected by

o028 5 00 BBES S D) FaAIS

Options :

1. General public

- GO (202360

2. Govermnment bodies

(2025 § QORED

2. %
% éharehalders
ey
3.¢
4. Employee
&Esh
4, %

Question Number : 43 Question Id : 7935231143 Display Question Number : Yes Is Question
Mandatory : No

The maximum number of partners allowed in the banking business are

250800 ar$aTE0ES 9. DB0TIVE 2PHRF L) KB 0D

Options:
A
2. 10

2. ¢



Question Number : 44 Question Id : 7935231144 Display Question Number : Yes Is Question
Mandatory : No

The capital of a company 1s divided mto number of parts each one of which are called

28§00 Srodso &Séo ermenr di2ouadon, SEO 18 a8

P 2ENDERN0E.
Options :
1. Share
20

1.4

2. Dividend
5 % C90)T3OC

3. Profit
- ey230
4. Interest
e
4. %

Question Number : 45 Question Id : 7935231145 Display Question Number : Yes Is Question



Mandatory : No

In case of Registration 1s compulsory

DACHOES” B2 NS DI

Options :

1. Sole Proprietorship

DSE O323555°0)
1. %
2. Partnership
2P 5e0S0
2. %
3. Company
Lo S0
4. None of these
L d8S 28BS

Question Number : 46 Question Id : 7935231146 Display Question Number : Yes Is Question
Mandatory : No

A partner whose assoctation with the firm 15 unknown to the general public 1s called

D0RS @RFTDAS e (308 SO ZriRrsd @0ty

Options :

1. %



1. Active partner

1853 23t s

2. Sleeping partner

QL 23 5o

3. Nominal partner

. T°ood| €8 230 Sad
4. Secret partner
Ba3§ 27N 5o
4.

Question Number : 47 Question Id : 7935231147 Display Question Number : Yes Is Question
Mandatory : No

A partoer who 15 not actually involved m the partnership but lends his name for public
relations purposes 1s

T8 2Fres08 eIt P @B (5er N0

O30 §0 ) D% & A0 HOEIot)

Options :

1. Silent partner.

- D32 2P SoD.



2. General partner.

PO 230 5.

3. Nominal partner

L T°oad°| €5 230 Sadd
4. Domuinant partner.
e3ODEHS 23T §o.
4, %

Question Number : 48 Question Id : 7935231148 Display Question Number : Yes Is Question
Mandatory : No

The form of business organization that has the largest sales volume s the
@65 558 VO ) ) SOR 58 0 TS} B30
Options :

1. Partnership

AN T AP

2. Corporation

55 )0

2. ¥



3. Multinational

2023l

4. Cooperative

D5

Question Number : 49 Question Id : 7935231149 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a process of organizing:-

806 ¢3S D AE 50T (D|BAH 5°0:-

Options :

1. Division of work

1% DR )2B

-2

Assignment of duties

> % QMO BEIFONON)

3. Grouping jobs

Grouping 232D )

4. Decision making

DECHO SDESH0

4.¢



Question Number : 50 Question Id : 7935231150 Display Question Number : Yes Is Question
Mandatory : No

Unity of command 1s related to

¥557086 COrE38 HO0HODIE

Options :

1. Superiors and subordinates.

€509) THSED OB D2FrOTEW.

1.¢
2. Management and workers.

- QS £3589 2DOA 57680 ew.
3. Planned actions.

- (DT LS LIB§EeN.
4. Cooperation among employees.

&5 0§ DI 5 EO.
4, %

Question Number : 51 Question Id : 7935231151 Display Question Number : Yes Is Question
Mandatory : No

Where the consent of a party 1s obtamed by misrepresentation, the contract is;
ST TSRO0 HaFotid0 @5 0 29028 &0 IR, 23040

Options :

1. %



1. Vahd
RE TN €96)eD0R

2. Voud
) % ZORNIN®

3. Voidable

Lo B0 TBANDASE
4. Tllegal
\ N leVale

Question Number : 52 Question Id : 7935231152 Display Question Number : Yes Is Question
Mandatory : No

When a person accept a proposal, there 1s
2,8 5558 (033755 @0AEB0D NN ), 9B

Options :

1. Proposal

§ 2,8 103
2. Promuise
2. ¢ TR0

3. Agreement

200 )OO0



4. None of these

D3 A B

Question Number : 53 Question Id : 7935231153 Display Question Number : Yes Is Question
Mandatory : No

An agreement 1
2,8 2,000 OB

Options:

1. Offer

@300

2. Offer & acceptance

, v DO & @ofs30

3. Contract

3 % 2000 )OO0

4. None of these

D3 DA T

Question Number : 54 Question Id : 7935231154 Display Question Number : Yes Is Question
Mandatory : No

Essential elements of a valid contract does not mclude

TIEN2ED AN 200100 TINE) AVDE E0F°EN TA)2Co0)

Options:



1. Adequacy of consideration

HOFES TBE), SASOH

1.4

2. Free consent

ET)ed Do) ed
2. %
3. Capacity to contract
.- Sel N Velde

4. None of these

D3 DA T

4. %

Question Number : 55 Question Id : 7935231155 Display Question Number : Yes Is Question
Mandatory : No

An agreement with an alien enemy 1s
DO F(05)D 2.8 2,00
Options :
1. Unlawtful
v ?ﬁ@@éﬂé@
2. Voidable
2% 30 DODARIE



3. Valid

TIEV2°ED AN

4. None of these

L D3 DA T

Question Number : 56 Question Id : 7935231156 Display Question Number : Yes Is Question
Mandatory : No

A contract of indemnity 1s

SRDOI* B0 T3NEY, 2,080

Options :
1. Contingent contract
382928 2,000
1.4
2. Wagering agreement

- DOTO 2000

3. Quasi confract

- o288 2,00 )00

4. None of these

L BSOS

Question Number : 57 Question Id : 7935231157 Display Question Number : Yes Is Question



Mandatory : No
If seller delivers goods in excess quantity, buy may
Seller @96 HOITEI0E HeDHOD D0 TR, Eedffen

Options :

1. Accepts the whole

- 050 90AEDOTINTN)
2. Reject the whole

- B0B0 €352, B0TINTN.)
3. Both 1 and 2

. 1 DOAW 2 BOLCYH®
4. None of these

L ABS IO B

Question Number : 58 Question Id : 7935231158 Display Question Number : Yes Is Question
Mandatory : No

Offer for sale of a car m local newspaper 1s called

TRE FTISBES 55 950)5°N8 €38 0L

Options :

1. General offer

- PO €8N0

2. &



2. Special offer
(0358 35

3. Cross offer

30 (50800

4. None of these

D3’ A B

Question Number : 59 Question Id : 7935231159 Display Question Number : Yes Is Question
Mandatory : No

In case of breach of warranty, buyer can

FG0E3 GO0 DACHOE | EeDFeNTE TADSTH)

Options:
1. Repudiate confract

200 )0, €330 H050G%

2. Returns the goods

DAY e3OA @ Lot

2. ¥

3. Clamm damage only

3 % Xj@gbl gl?{*?\_%i) Sﬁl}c'i} OO

4. None of these
eI’ DA T



Question Number : 60 Question Id : 7935231160 Display Question Number : Yes Is Question
Mandatory : No

If agent makes secret profit out of busmess, he loses

D08 550 D0 Gaidg 720 SPOOB, 965D NP
Options :

1. Profit
- DN

2. Remuneration

5@_% DO

3. Profit and remuneration

3. ¢ 230 oOAN 3550

4. None of these

D3 DA B

Question Number : 61 Question Id : 7935231161 Display Question Number : Yes Is Question
Mandatory : No

Crypto currency 1s

188 B
Options :

1. Plastic money

"8 521



2. Digital medium of exchange

5 ¥ &22600 A 8557500

3. Digital payment

i G220 0D
4. Bothl &2
1 & 2 DO
4, %

Question Number : 62 Question Id : 7935231162 Display Question Number : Yes Is Question
Mandatory : No

In Indza, the Chit funds are governed / regulated by .

FESTH0S, DG A% s rdodadiaan / Aoho@oadeEon,
Options :

1. RBI

2. Central Government

) S0(& (22DHeb 50
3. State Governments
. O & (20208 5e0

4, %



4. Local Bodies
T°E Hoen

Question Number : 63 Question Id : 7935231163 Display Question Number : Yes Is Question
Mandatory : No

ol oy

was appointed by PM m July 2012 to look into taxation of IT sector.

2012 578 063 50103 I8 DAOBERE PM AN,

Options :

1. Rangachary committee

. Sorords Enes
2. BimalJalan Commuittee

- BimalJalan é&jég

3. C N R Rao Committee
. 2 DS 38 o7 €es

4. None of the above

A PARNG I

4, %

Question Number : 64 Question Id : 7935231164 Display Question Number : Yes Is Question
Mandatory : No



. RBI was set up in the year

2 H05¢5 15065 RBI DT°)E0 T3O0DEH0E?
Options :

1. 1934

1. %

2. 1935
7

Question Number : 65 Question Id : 7935231165 Display Question Number : Yes Is Question
Mandatory : No

Expand NEFT
NEFT Q 000w508%
Options:

1. National Electronic Fund Transfer

FAIS QO FTIE H0& 2O

1.¢

2. Neutral Electronic Fund Transfer

SISO O T Dok 2O

2. %



3. Nomunal Electronic Fund Transfer

0I5 DO TE HOB 2O

4. Natural Electronic Fund Transfer

D57 DOIFTIE HO& 226

Question Number : 66 Question Id : 7935231166 Display Question Number : Yes Is Question
Mandatory : No

CRM stands for

CRM 90T

Options :
1. Consumer Rate Mechanism

1% DAOITHER DE B0

2. Customer Relationship Management

s v 300 8BAYD DS Do

3. Convenience Relationship management

D8 G §0530 DOD0Ed AV §I°6

4. Consumer Relationship Management

DAOIFHET B D0D0E DY 57

4, %



Question Number : 67 Question Id : 7935231167 Display Question Number : Yes Is Question
Mandatory : No

Who 1s the present Governor of RBI?
€352)%0 (23065 1935 8 Dd0?

Options :
1. K.C. Chakrabarty

K.C. 2558

1%

2. Shaktikanta Das
Ly  355°06 0

3. RaghuramRajan

. GadNT") T3

4. Montek Singh Ahluwalia

Sr0BE DON €93V O%

4. %

Question Number : 68 Question Id : 7935231168 Display Question Number : Yes Is Question
Mandatory : No

How many parties are mainly involved m Promissory Note?

DS SES (HTS0mr A Qen €Y 0eron?



Options :

1. %

Question Number : 69 Question Id : 7935231169 Display Question Number : Yes Is Question
Mandatory : No

PAN number 1s required for

00 S S028 @©I3H80

Options :

1. Deposits less than Rs.50, 000/-
&o° .50,000 0T 850700 Gare3tY

2. Deposits 1n excess of Rs.1 lac

Lk Gl ef S0 Q80 Gare3ey

3. Deposits Rs.50, 000/- & above

C5a0r226D O .50,000/- & 20

3.¢



4. None of these

De3S” DA T

Question Number : 70 Question Id : 7935231170 Display Question Number : Yes Is Question
Mandatory : No

Fixed Deposits 1s otherwise called as

DB B2 Qe @0

Options :

1. Accrued Deposits

EB0NS GIe2eY
1%
2. Time deposits

- Bo Coa0r22CD

3. Recurring Deposits
Ll DTS G

4. Demand Deposits
. 900708 C3o°22ED

Question Number : 71 Question Id : 7935231171 Display Question Number : Yes Is Question
Mandatory : No



E-Commerce stands for

Q-500 ) 90T

Options :
1. Electrical Commerce

D5 €230

2. Electronic Comumerce

- DO TS 5500

3. Entertainment Commerce

xS B0

4. Electro Chemical Commerce

D[S ZDES 52695

Question Number : 72 Question Id : 7935231172 Display Question Number : Yes Is Question
Mandatory : No

The best products to sell m B2C e-commerce are:

B2C e - 5°%00)¢S QE0N0TI@RE €595 e5¢b yeden:
Options :

1. Small products
D) Esed ) een

2. Dagital products
32200 €sed)een

2. ¥



3. Specialty products

Lx OB esebyeen

4. Fresh products

e5°23° E5ed yehe

Question Number : 73 Question Id : 7935231173 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1is not a party of SCM?
80A ¢3S DE SCM aF8 52¢5?

Options :

Suppliers

1 % AEDT e

Manufacturers
2. % SOOI
Distributors

1 v DODEITBEN

Customers

APEEAIN SV e AoV Sy



Question Number : 74 Question Id : 7935231174 Display Question Number : Yes Is Question
Mandatory : No

"Google” 1s one of the most popular....................

"HrfO" @e5506 (e PO ¢3S 2863 .o
Options :

1. Portal

QO

-2

Browser

1257230

3. Search Engine

= =]
v 0,) QOB

4. None of these

De3S” DA BE®

Question Number : 75 Question Id : 7935231175 Display Question Number : Yes Is Question
Mandatory : No

— E-Commerce transaction has the advantage of eliminating middlemen.
............ 3508 a0 NA5BON FORT (DATETR) $OR &0,
Options :

1. B2G

1. %



2. %

,. 3. BB
4. B2E

4, %

Question Number : 76 Question Id : 7935231176 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is an example of C2C?
806 ¢3S C2C § e Bea?

Options :

1. E-Bay

2. Amazon.com

2. %8 <
3. Flipkart
DR
3_ W
4. All of the above
4.

Question Number : 77 Question Id : 7935231177 Display Question Number : Yes Is Question
Mandatory : No



............. 1s the most unwanted of online advertising methods.

............. BB 80 DO @96 5065 @TOHAOIRIA.
Options :
1. Advertorials

COITATNIN

2. Pop-up ads

Lo aT-e90) (D80

3. Spam e-mail

- TN Q-DONO

4. None of these
4. % g)ﬁ%eﬁﬁ é;)(f) @Cﬁ}

Question Number : 78 Question Id : 7935231178 Display Question Number : Yes Is Question
Mandatory : No

Which i1s not a function of E-commerce

QO E- 5205 By, D08 5280
Options :
1. Marketing
Soeop.e3oh

2. Advertising

RSEIANN



3. Warehousing

AorHen
3.
4. None of the above
2300 o) By
4, %

Question Number : 79 Question Id : 7935231179 Display Question Number : Yes Is Question
Mandatory : No

Which 1s a function of ERP
26 ERP 3308 H0ES
Options:

1. Warehousing

- Aot e
2. Sales
€953025°C)
2. % >
3. Scheduling
P techi{ol
3. %

4. All of the above
29D

4.+



Question Number : 80 Question Id : 7935231180 Display Question Number : Yes Is Question
Mandatory : No

E-Banking 1s also known as

Q E - 2750800 Q) S5 @0e3N

Options :
1. ATMs

_«  ATMe®

Net banking

, v O 2rgo8oh

Traditional banking

QOO 2350800

None of these

eI DA TN

Question Number : 81 Question Id : 7935231181 Display Question Number : Yes Is Question
Mandatory : No
The word ‘Audire” which means

‘Audire’ @3 D°VE Q0
Options :

1.



1. Hear

D0 Cd

2. Audit

e3GEd

3. Venfy

HEO0TI0G

3. %

4. Check

DY) TOHO

Question Number : 82 Question Id : 7935231182 Display Question Number : Yes Is Question
Mandatory : No

An auditor 1s like a
essBe0 2,8

Options:

1. Blood haunt

38 ST



2. Watch dog

- LD oG
3. May both according to situation
DBV (D5°B0 DOE® &0
4. None of these
DEIS DA BM
4. %

Question Number : 83 Question Id : 7935231183 Display Question Number : Yes Is Question
Mandatory : No

Critical exammation of the transactions recorded 1 the books of accounts 1s called as

9T065) 05 SIr) TDad ramne SR 208 % ©0Lrd)

Options :

1. Accounting

L« ©F0oe3oh
2. Objectivity
Qar )8 Sed
2. %

3.¢



3. Auditing

esde3on

4. Materiality

S0e38a5O)eS

Question Number : 84 Question Id : 7935231184 Display Question Number : Yes Is Question
Mandatory : No

Audit programme 1s prepared by
3B |FTe 5A DADDBOE

Options :

1. The auditor

8GO

2. The client

Sonoed

3. The audit assistant

e3¢HED VO
3. %

4. %



4. The auditor and his audit assistants

e3GE)D DO @65 e83GED DI*OHSVED

Question Number : 85 Question Id : 7935231185 Display Question Number : Yes Is Question
Mandatory : No

Inferim audit 1s conducted to declare

2863008 6150 eGEY NG §ar0TICRER0E

Options :

1. Dividend

Go)BOG

2. To 1ssue shares

- PO 2370 DONEOE

3. To 1ssue debentures

L QBOLID 2370 TWOHE@AS

4. To have mternal check

£90655¢5 5D EOA &0CBE0

Question Number : 86 Question Id : 7935231186 Display Question Number : Yes Is Question



Mandatory : No

In which year the Income tax was infroduced?

2 D0NEB5IE0ET BEIOND) DY, (3% DLDGOE?

Options :
1. 1861
2. 1961
2. ®
3. 1860
3.¢¥
o4 1960

Question Number : 87 Question Id : 7935231187 Display Question Number : Yes Is Question
Mandatory : No

Tax levied by the Government 1s a
10265 50 DO D)
Options :

1. Multi-dimensional mstrument

- 25700 HOES0
2. Single-dimensional mstrument
- DE-DBed HDOZBO

3. %



3. Dimensional mstrument

BHIXS HBES0

4. Dual — Dimensional instrument

S35088 - BROVIO HDOBEB0

4, ®

Question Number : 88 Question Id : 7935231188 Display Question Number : Yes Is Question
Mandatory : No

Perquisites can be given to employee on

&ESH HDTE = INTINTRVY

Options :
1. Cash and Kind

L N0 0050 Ba%
2. Cash
L S
3. Kind
RO
3. %

4.+



4. Cash or Kind

S Sooe Aow

Question Number : 89 Question Id : 7935231189 Display Question Number : Yes Is Question
Mandatory : No

How many house the owner, can be used to occupy for his/her self-residence purpose”
OB ) KgarOd), SV AIONATN  (HAFEN0  §R0
&3 5aD0TITRS GO I0tId),)?

Options:
I. One
&5
1, %
2. Two
S v BOCD
3. Three
ST
3. %
4. Four
et



Question Number : 90 Question Id : 7935231190 Display Question Number : Yes Is Question
Mandatory : No

Calculate Gross Annual Value, 1f municipal value - 1.20,000; Fair rent - 1.30,000; Standard
rent — 1,10,000; Actual rent - 1,26,000

ANANIO e - Rs.1,20,000 G0T (O 08 eNdd B8 0wI0G; SR
93 - Rs.1.30.000; (270738 &3 - Rs.1,10,000; Qe @3 - Rs.1,26,000

Options :

1. Rs. 1,20,000/-

=

Rs. 1,30,000/-
3. Rs. 1,10.000/-

4. Rs. 1,26,000/-
4.

Question Number : 91 Question Id : 7935231191 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following 1s not a feature of busiess environment?
806 33 DB 5> TG0 TBNEY, & £20 FE?
Options :

1. Uncertainty

€907.)e3

2. %



2. Interdependence

DB OO

- Qo8
4. Stability
66550
4.9

Question Number : 92 Question Id : 7935231192 Display Question Number : Yes Is Question
Mandatory : No

Globalization means
1DD0NESE 90Ty

Options :

1. Reduced role of public sector.

2D ed 5 QO ared SH0D&H05.

2. Integration of economies.

€308 555500 9 NIOTIO0.

3. Lowering mnterest rates.

G BED SH0TIB0.

3. %



4. Control of mflation.

18963 52320 QODO(eHeD.

Question Number : 93 Question Id : 7935231193 Display Question Number : Yes Is Question
Mandatory : No

Nature of business environment suggests that environment keeps on

changing,
TG 08I0 TN 252730 TP (80 SFHSFR
000 PRW0E.
Options :

1. Dynamic

Cirde D8
1.9 -
2. Pervasive
- IS0
3. Continuous
lelelle
3, %

4. Multidimensional

2303

4. %



Question Number : 94 Question Id : 7935231194 Display Question Number : Yes Is Question
Mandatory : No

Legal mles and regulations relevant to busiess are mcluded m

environment of busmess.

FPTOS 020000 HIORG  AohaTed  aNBA 0L

b
T5r0 TEH0E06 DOIRFOW.

Options :
1. Legal
BEDEDS
2. Political
0°2380%
2. %

3. Economic

. 303
4. Technological
D08 edd
4.¢

Question Number : 95 Question Id : 7935231195 Display Question Number : Yes Is Question
Mandatory : No



External factors affecting a business environment also be refemed to  factors

=

TPl TENPA), (NTNS0 TR WS STy @ sdseor

VA OAAKIZION

Options :
1. Controllable

QONO(E30TIAADE
1. %
2. Uncontrollable factors
e9QON0(e3eb SIS
2. ¥
3. Relevant
QOO0
3. %
4. Global
EAD)
4, %

Question Number : 96 Question Id : 7935231196 Display Question Number : Yes Is Question
Mandatory : No

Study of human population 1s called as environment
Q) B2 SO0 DT59890 @0
Options:

1. %



1. Political

23805

I~
w2
Q
L]
g
o]
[u—

3. Demographic

TN MR
3. ¥

4. Economic

esDs

Question Number : 97 Question Id : 7935231197 Display Question Number : Yes Is Question
Mandatory : No

Expand MSME
MSME Q 80508

Options:

1. Medium, Small and Micro Enterprises

DEBONO, O DB DIE OB DB



2. Micro. Small and Medium Enterprises

Qr8 2, Y DO o0 §EHHI DO

3. Minimum. Small and Medium Enterprises

€A, DY, S0OASM s0EI§EHBIE HOF e

3. %

4. None of these

De3S” DA T

4, %

Question Number : 98 Question Id : 7935231198 Display Question Number : Yes Is Question
Mandatory : No

. FEMA 1s a replacement to which Act?
20° @A o) LIV |DEsedr) AH0?

Options :
1. MRTP Act
MRTP 5&0
1. %
2. EERA
Folek
2. %



3. Competition Act

eSO

4. Companies Act

0D IO

4, %

Question Number : 99 Question Id : 7935231199 Display Question Number : Yes Is Question
Mandatory : No

Macro environment consist of. ...
Q70> 7e535€20 eI DA &N ...
Options:

1. Political system

) 0°2380% 953
1.
2. Demographic factors
i 23072 5°05°eD
2.
3. Culture of the society
. D3°230 A3NEY, D0 e
3.

4. All the above
I

4.+



Question Number : 100 Question Id : 7935231200 Display Question Number : Yes Is Question
Mandatory : No

The income and expenditure policy of the government 1s called

(0020€5 0 A3NE),. ETTFON 2SO TR0 0L

Options :

1. Fiscal policy

es308 D0
1.4
2. Industral policy
. TO(B°DE D0
2.
3. Trade policy
i N AL IARNTS
3.

4. Monetary reforms

189655 DO Beaen



